[ number of missing inner layers |

[ number of missing outer layers |

1e - Entries 18156 1e —| Entries 18156
E Mean 0.04979 E + [ Mean 1.624
F Std Dev 0.2614 | .Std Dev 2.002
-1 . - S| e — T U e - I
107 Entries 23862 107E *TEnties 23862
F Mean 0.03042 F : | Mean 2.133
r Std Dev_ 0.198 o . |Std Dev 2.051
J AR ——— T P 2 I eeiiiiitiiiiiii..
10 3 Enmes 23591 10 3 + [ Entries 23591
o Mean 0.03039 o t | Mean 211
a[ Std Dev 0.1978 a[ ! |Std Dev 2.044
107°F B B St R 107 el g s L 1
o Entrie 23798 o : : Entries 23798
r Mean 0.03135 r . Mean 2.071
_4 Std Dev 0.2026 _4 N Std Dev 2.032
107 T i 107°F b = R 1
F Entries 20411 F : :+ | Entries 20411
L Mean 0.03479 L . . Mean 2.074
107° Std Dev 0.2134 [0 ] TP P FO O .. {std Dev 2,011
6[. o[ N R B
_910 61-'---- _910L-§1_ F+T1T1 "
g I : g [ *g:f:-r
24 [ . 24 [ =
B : i e | e et B EE R
0.5 ] [ :
L : = : : : :
0.5
0 0. 5 l 1. 5 2 2. 5 3 3. 5 4 45 5 0 5 10 15 20 25
—— DQMST |
—p— D Mste
=i z'qs'#
mean hi s DQM S 33 TT‘g efaultNEWTOLDSAMPLE-relf3
= 20 — Entries 18156
» F Mean 10.57
> 18 - Std Dev 7.027
A~ F L. s T
= 3 Entries 23862
S 16p 10°E
\ o
14 » :
o [ Entries 23501
12 Mean 7.975
102k Std Dev 4534
10 2 :
- Entries 3
8 - Mean 8.162
- Std Dev 4.627
10k
6 E Entries
r Mean 8.468
4 - Std Dev 4.862
9 T
1E
o +0Of o +
- - 15 P R e R LT T
g 1 € F o s
0.8 B
0.5 :
0.6F b= : : : HET : :
-3 0 5 10 15 20 25 30 35 40

Entries 218232
Mean 2.089
Std Dev 6.148
: I
E Entries 218232
2 e ] Mean 2.089
10 E Std Dev 6.148
E T 1
B Entries 218232
3] ean 2.089
10 E Lglpev 6.148
E ey
r Entrids 218232
" Mean 2.089
107°F Std D 6.148
E N I
B Entries 218232
[ Mean 2.089
107°F Std Dev 6.148
AT
o 105 N . ;
= . ;
£ il
'llluuuulllllll“lll :
*ITT””*"”TTTTTHFI|||” :
0.95— : . : . .
10 1 10 10 P 6.0

o

10

track hits
Entries 19585
Mean 0.5068
Std Dev 6.425
""" AR
Entries 25752
Mean 0.4629
Std Dev 1.67
: 1
Entries 25468
Mean 0.4618
Std Dev 1.679
: |
Entries 25710
Mean 0.4593
Std Dev 1.674
: A
Entries 22817
Mean 0.4526
Std Dev 0.8766

3
track pl 0



	Contents
	Page 1


